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Ideals for irreducible component#ﬂ)f Xpar

Iu:<u18_u17+__.+u_1>

* 1 irreducible components of dim¢ = 0, with total 18 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u'6 — 4u!® + 8ul* — 8u!? + 24u'? — 20u!t + 28u!® — 244u° +
36u® — 20u” + 200’ — 12u° + 8u' + 4u® — 8u® + 8u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C u T =1
C2,C3,C
2,C3,04 u18+u17—|—-~-—3u_1
€8, C9
Cs5,C7,C10 U18—|—5u17+..._|_u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1. Co y sy eyl
€2,C3,C4 y18_23y17+...+y+1
Cg; Cy
€5, €7, €10 Yy 17y T+ — 23y +1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u= 0.261770 4 0.9206051

—3.83985 + 2.544281

—13.6710 — 5.19391

u= 0.261770 — 0.9206051

—3.83985 — 2.544281

—13.6710 + 5.19391

u = —0.272828 4 1.0393601

—13.13100 — 3.249761

—13.8187 4 3.49321

u = —0.272828 — 1.0393601

—13.13100 + 3.249761

—13.8187 — 3.49321

u = 0.855326 4 0.7599461

—5.70958 — 2.318931

—7.86761 4 0.271781

u = 0.855326 — 0.7599461

—5.70958 4 2.318931

—7.86761 — 0.271781

u = —0.813352 + 0.8217481

2.79760 + 0.474121

—6.24213 — 1.461511

u = —0.813352 — 0.8217481

2.79760 — 0.474121

—6.24213 4 1.461511

u = 0.798203 4 0.8900451

5.14256 4 2.993471

—2.16456 — 2.968841

u = 0.798203 — 0.8900451

5.14256 — 2.993471

—2.16456 + 2.968841

u = —0.779702 4 0.9476951

2.41083 — 6.448381

—7.16819 + 6.553351

u = —0.779702 — 0.9476951

2.41083 + 6.448381

—7.16819 — 6.553351

u = 0.774589 + 0.9975851

—6.44242 + 8.390941

—9.04735 — 5.139041

u= 0.774589 — 0.9975851

—6.44242 — 8.390941

—9.04735 + 5.139041

u = —0.703368

—9.78395

—7.88600

u = —0.211837 + 0.6496641

—0.370697 — 0.9658851

—6.45922 4 6.933921

u = —0.211837 — 0.6496641

—0.370697 + 0.9658851

—6.45922 — 6.933921

u=0.479029

—1.27899

—17.23650




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Ce w4 —u—1
c2,C3,C
2,C3,C4 U18+U17+"'_3u—1
€8, C9
18 17
C5,C7,C10 u4ou 4+ +u+1l




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, ¢ v 5y ety + 1
C2,C3,C4 y18_23y17++y—|—1
€8, C9
C5,C7,C10 Y 1Tyt e 23y + 1




